2023FE EERREAOHRLAER LUNEERY—HERERRE)

_ i N EMRER (ko)

J0vs ERRE SIMETIR BIMRA(H) T R T
4 1.0 0.0] 131.0[ 1825 | 324.5
1| dom [EE 1] 1mB[ 0.0] o00]71250] 0.0 125.0
- 2E1E 3| 2EE|[ 11.0| 0.0| 6.0] 1825 199.5
4 1.0 0.0 131.0 [ 1825 | 3245
ILmET Oy OB EE 1] 1mmA] 0.0] 00][1250] 0.0 125.0
2EH 3| 2mpHE[ 11.0| 00| 6.0] 1825 199.5
1 2780 | 0.0] 1180 0.0 | 396.0
2 | mmR EE o[ 1mA] 00| 00| 00] 00 0.0
2EH 1| 2mPE|[278.0| 0.0| 1180 | 0.0| 396.0
5 371.0 | 0.0 [ 90.5 | 480.0 941.5
3 | BFR EE 2| 1mBE| 405] 00| 95| 95 59.5
2EH 4| 2mB[3305| 0.0 81.0] 4705 882.0
1 2580 [ 0.0 ] 0.0 [15035] 1,761.5
4 | =me EE o[ 1mA] 00| 00| 00] 00 0.0
2EH 1| 2EH|258.0 | 00| 0.0 [15035] 1,761.5
0 0.0 00[ 00] 00 0.0
=t | 5 | wER EE o] 1mA] 00| 00| 00] 00 0.0
2[ElH 0| 2mE| 00| 00| 00| 00 0.0
4 304.0 | 0.0 [ 140.0 | 430.0 | 874.0
6 | Wie IEE 1] 18| 304.0] 0.0 [ 41.5] 201.0 546.5
26l 3| 2mE| 0.0| 0.0] 985]|229.0| 3275
11 291.0 | 0.0 | 243.0 [ 836.0 | 1,370.0
7 | mBR EE 7| 1mBE] 115.0] 0.0]128.0 | 183.0 | 426.0
2[ElH 9| 2mE| 176.0 | 0.0 | 115.0 | 653.0 | 944.0
22 1,502.0 | 0.0 | 591.5 [3,249.5 | 5,343.0
siLTOv oAk TEE] 10| 1EA| 459.5| 0.0 [ 179.0 | 393.5 | 1,032.0
2EH| 18| 2mE[1,042.5| 0.0 | 412.5 [2,856.0 | 4.311.0
5 188.5| 0.0 | 325 1450 | 366.0
8 | wms IEE 4] 1EA| 635] 00| 100] 665 140.0
2[ElH 3| 2mBH[ 125.0| 0.0 225]| 785 226.0
1 0.0 00[ 00] 74.0 74.0
9 | AR IEE 1] 18| o0.0] 00| 00] 350 35.0
2[ElH 1| 2mBE| 00| 00| 0.0] 390 39.0
1 420 40| 00| 0.0 46.0
10| BHER IEE 1] 18| 29.0] 3.0[ 00] 00 32.0
2[ElH 1| 2EH| 13.0 1.0 00| 00 14.0
1 484.0 | 0.0[ 17.0] 39.0 540.0
1| #ER IEE 1] 1mA|256.0 00| 110 180] 285.0
2[ElH 1| 2PE|[228.0| 00| 60| 21.0 255.0
7 311.0 | 6.0 | 25.0 | 446.0 788.0
12| FER IEE 6| 1mA| 122.0| 3.0 205 | 269.0 414.5
2B 5| 2mE| 189.0| 3.0 45| 1770 3735
3 2445 | 75| 265| 355 314.0
mE | 13| s IEE 2| 1mBE| 950 0.0 145] 6.5 116.0
2EE 3| 2mH|1495| 75| 12.0| 29.0 198.0
0 0.0 00[ 00] 00 0.0
14 | #RIIR IEE o] 1mA|] 00| 00| 00] 00 0.0
2EE 0| 2mH| 00| 00| 00| 0.0 0.0
4 7050 ] 0.0] 0.0[192.0] 8970
15 | i8R IEE 1] 18| 0.0] 00| 00] 610 61.0
2EE 3| 2mH|705.0| 0.0| 0.0] 131.0] 836.0
1 299.5| 0.0] 195[ 1015 | 4205
16 | LR IEE 1] 1mB[ 169.0] 00| 80| 535] 2305
2B 1| 2m@H| 1305 0.0| 11.5| 48.0 190.0
1 66.0 | 19.0| 0.0 [ 490.0 575.0
17 | BRER IEE 1] 1mB[ 0.0] 00] 0.0]4900] 490.0
2B 1| 2EH| 66.0] 19.0| 00| 0.0 85.0
24 23405 | 36.5 | 120.5 [1,523.0 | 4,020.5
BRI Oy A% B8] 18| 1mH| 7345 | 6.0 | 64.0]999.5| 1,804.0
2EH| 19| 2mE[1,606.0 | 30.5 | 56.5| 5235 | 2,216.5




0 0.0 0.0 0.0 0.0 0.0

18 | ELE 2= 0 1B 0.0 0.0 0.0 0.0 0.0
2[61H 0 2[615 0.0 0.0 0.0 0.0 0.0

4 0.0 0.0 67.5 88.0 155.5

19 | AR 2= 3 1B 0.0 0.0 31.5 32.0 63.5
2[61H 3 2[615 0.0 0.0 36.0 56.0 92.0

0 0.0 0.0 0.0 0.0 0.0

20 | #EHE 2= 0 1B 0.0 0.0 0.0 0.0 0.0
2[61H 0 2[615 0.0 0.0 0.0 0.0 0.0

1 49.5 0.0 0.0 | 193.5 243.0

21 | RER 1B 1 1EE| 49.5 0.0 0.0 | 193.5 243.0
q’?“ 2[6H 0 2[61H 0.0 0.0 0.0 0.0 0.0
JbBE 3 293.5 2.0 13.5 ] 219.5 528.5
22 | IRRE == 3 1EH| 88.0 1.0 2.0 34.0 125.0
2[6H 3 2[H| 205.5 1.0 11.5 | 185.5 403.5

3 24.0 0.0 25.0 | 365.0 414.0

23 | BHR 1B 3 1aEH| 24.0 0.0 25.0 | 228.0 277.0
2[6H 2 2[018 0.0 0.0 0.0 | 137.0 137.0

0 0.0 0.0 0.0 0.0 0.0

24 | =88 1B 0 =S 0.0 0.0 0.0 0.0 0.0
265 0 2[61H 0.0 0.0 0.0 0.0 0.0

11 367.0 2.0 | 106.0 | 866.0 1,341.0

ER-dLETOv O A% 1E1H 10 1EIH| 161.5 1.0 58.5 | 487.5 708.5

2[0H 8 2[OH| 205.5 1.0 47.5 | 378.5 632.5

0 0.0 0.0 0.0 0.0 0.0

25 | HER 1E1H 0 1E1H 0.0 0.0 0.0 0.0 0.0
2[B1H 2 0.0 0.0 0.0 0.0 0.0

1 0.0 0.0 64.0 0.0 64.0

26 | WEBA 1E1H 0 1E1H 0.0 0.0 0.0 0.0 0.0
2[B1H 1 2[5 0.0 0.0 64.0 0.0 64.0

7 105.5 0.0 64.0 | 238.5 408.0

27 | KBRS 1E1H 5 1EEH|] 38.0 0.0 36.5 86.0 160.5
2[B1H 5 2\IH| 67.5 0.0 27.5 ] 152.5 247.5

2 0.0 0.0 0.0 | 357.5 357.5

| 28| EER 1E1H 1 1Bl 0.0 0.0 0.0 20.5 20.5
2[B1H 2 20 0.0 0.0 0.0 | 337.0 337.0

1 7.5 0.0 0.0 6.5 14.0

29 | RERR 1E1H 1 1Bl 7.5 0.0 0.0 6.5 14.0
2[B1H 0 20 0.0 0.0 0.0 0.0 0.0

0 0.0 0.0 0.0 0.0 0.0

30 | fFRLR 1E1H 0 1Bl 0.0 0.0 0.0 0.0 0.0
2[B1H 0 20 0.0 0.0 0.0 0.0 0.0

11 113.0 0.0 | 128.0 | 602.5 843.5

EHTOvoEE 1B 7 1EEH| 45.5 0.0 36.5 | 113.0 195.0

2[0H 8 2[H| 67.5 0.0 91.5 | 489.5 648.5




2 0.0 0.0 0.0 | 352.5 352.5

31 | BERE 1B 1 1EI8 0.0 0.0 0.0 | 128.0 128.0
2[6lH 2 2618 0.0 0.0 0.0 | 224.5 224.5

3 0.0 0.0 0.0 [1,070.0 1,070.0

32| BRE 1B 2 1EI8 0.0 0.0 0.0 | 963.0 963.0
2[61H 1 2618 0.0 0.0 0.0 | 107.0 107.0

9 415.0 1.0 | 317.0 |1,5631.5 2,264.5

33| ALR 1B 7 1EIH| 263.5 0.0 | 162.0 | 652.5 1,078.0
2[6lH 9 2EBIB| 151.5 1.0 | 155.0 | 879.0 1,186.5

5 290.0 0.0 | 162.0 |1,303.5 1,755.5

34 | LBR 115 4 1EIH| 170.0 0.0 | 136.0 | 237.5 543.5
2[6lH 3 2EBIB| 120.0 0.0 26.0 |1,066.0 1,212.0

3 89.0 1.0 26.5 [1,025.0 1,141.5

35| wAog 115 3 =8| 56.0 0.0 16.5 | 754.0 826.5
“P_El 2[6lH 2 2B|B| 33.0 1.0 10.0 | 271.0 315.0
NE 0 0.0 0.0 0.0 0.0 0.0
36 | EBE 115 0 1E18 0.0 0.0 0.0 0.0 0.0
2[6lH 0 2[61H 0.0 0.0 0.0 0.0 0.0

3 172.0 0.0 69.0 | 172.0 413.0

37 | BIE 115 2 1E18 81.0 0.0 30.5 92.0 203.5
2[6lH 3 2[61H 91.0 0.0 38.5 80.0 209.5

0 0.0 0.0 0.0 0.0 0.0

38 | BBE 1B 0 1E18 0.0 0.0 0.0 0.0 0.0
2[61H 0 2[61H 0.0 0.0 0.0 0.0 0.0

0 0.0 0.0 0.0 0.0 0.0

39 | BHME 1B 0 1E18 0.0 0.0 0.0 0.0 0.0
2[61H 0 261 0.0 0.0 0.0 0.0 0.0

25 966.0 2.0 | 574.5 |5,454.5 6,997.0

hE-mEJOY & LS 19 1EIH| 570.5 0.0 | 345.0 |2,827.0 | 3,742.5

2[5 20 2B1H| 395.5 2.0 | 229.5 |2,627.5 | 3,254.5

10 209.0 0.0 33.0 | 748.0 990.0

40 | wERS 1B 8 1E8| 70.5 0.0 13.5 | 317.5 401.5
2[61H 9 2EIBH| 138.5 0.0 19.5 | 430.5 588.5

0 0.0 0.0 0.0 0.0 0.0

41 | #HBE 1= 0 1= 0.0 0.0 0.0 0.0 0.0
2[0lH 0 261 0.0 0.0 0.0 0.0 0.0

0 0.0 0.0 0.0 0.0 0.0

42 | RIFE 1= 0 1= 0.0 0.0 0.0 0.0 0.0
2[0lH 0 261 0.0 0.0 0.0 0.0 0.0

6 73.0 0.0 10.0 | 349.5 432.5

43 | REARE 1= 6 =8| 41.0 0.0 5.5 | 178.0 224.5
M 2[0lH 6 2BB| 32.0 0.0 45| 1715 208.0
0 0.0 0.0 0.0 0.0 0.0

44 | RAHE 1= 0 1= 0.0 0.0 0.0 0.0 0.0
2[0lH 0 2B 0.0 0.0 0.0 0.0 0.0

3 14.0 0.0 71.5 | 457.0 542.5

45 | =R 1EH 3 1EH 14.0 0.0 48.0 | 226.0 288.0
2[0lH 2 2B 0.0 0.0 23.5 | 231.0 254.5

1 31.0 0.0 10.0 12.0 53.0

46 | ERBE 1EH 1 1EH 31.0 0.0 10.0 12.0 53.0
2[0lH 0 2B 0.0 0.0 0.0 0.0 0.0

20 327.0 0.0 | 124.5 [1,566.5 2,018.0

AumTOvoEs 1EH 18 1EIH| 156.5 0.0 77.0 | 733.5 967.0

2EH 17 2B|8| 170.5 0.0 47.5 | 833.0 1,051.0

6 118.5 12.0 18.0 | 397.5 546.0

47 | e 1EH 0 1EH 0.0 0.0 0.0 0.0 0.0
i 2[6lH 6 2EIH| 118.5 12.0 18.0 | 397.5 546.0
6 118.5 12.0 18.0 | 397.5 546.0

EJOvoaE 1EEH 0 1E1H 0.0 0.0 0.0 0.0 0.0

2EH 6 2[H| 118.5 12.0 18.0 | 397.5 546.0

117 5,745.0 52.5 |1,794.0 |13,842.0 | 21,433.5

s 1EH8 83 1=18(2,128.0 7.0 | 885.0 |5,554.0 | 8,574.0

2[61H 99 2E\I8|[3,617.0 45,5 | 909.0 |8,288.0 | 12,859.5




